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Study of child development is important :
(A) To control the behavior of children
(B) For proper upbringing of children

(®) For the all-round development of
children

(D) For the creation of good citizens

According to Hurlock, infancy is :

(A) Two weeks from conception
(B) Two weeks from birth

(@) Two years from birth

D) Two years from conception

How many teeth of children come out by
the end of two years?

(A)  20teeth
(B) 25 teeth
(®) 24 teeth
D) 15 teeth

The most important factor in the physical
development of children is :

(A) Cleanliness
(B) Nutrition

(®) Sleep

(D) Exercise

How many months can a child easily sit
without support?

(A) 7 months
B) 9 months
(@) 6 months
D) 8 months
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Which emotion would be faster in
adolescence?

(A) Anger

(B) Fear

(®) Love and affection

(D) Both (A) and (B)

Language development of children is
affected by :

(A) Health

B) Simulation

© Both (A) and (B)

(D) None of the above

Social development means :

(A) Being a member of the club

(B) Origin of social qualities and
practices

(®) Living in society
(D) Exchange of ideas

At which stage of development does the
maximum development of intelligence
occur?

(A) Matureness
(B) Adolescence
(®) Infancy

D) Childhood

“Adolescence is a state of ideals, a state of
the making of principles, as well as a general
adjustment of life.” This definition is given by :

(A) Hadow Repeat

(B) Jean Piaget
(@) Frederick Tracy
(D) E.A. Peel

(4)
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.......... is called the age of toys.

(A) Pre-childhood
(B) Infancy

C) Adolescency
(

D) None of the above

) Mobility
B) Readiness
) Growth
D) Heredity

Which is the factor affecting physical
development ?

(A) Hereditary

(B) Environment

(C)  Both (A) and (B)
D) None of the above

Which one of the following is not an
endocrine gland?

A Adrenal gland
B
C

D) Thyroid gland

(A)

(B) Pituitary gland
€ Salivary gland
(

The early development of the child mainly
depends on :

(A) Parents

(B) School environment
C) Society

D) None of the above

(3)
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The tendency of feeling of rebellion is
related to which of the following stages?

(A) Childhood

(B) Infancy

(®) Pre-adolescence
(

D) None of the above

Which of the following is an example of
subtle dynamic skill?

(A) Climbing

(B) Running

© Writing

D) None of these

Area of Development is :

(A) Mental

(B) Social

€ Both (A) and (B)
(D) None of the above

Growth means :

(A) Growth of internal and external
organs

(B) Enlargement of external organs only
(®) Growth of internal organs only
D) Growing physically and mentally

According to Hurlock, the age of childhood
is:

(A) 2 1o 5 years

(B) Two weeks to two years
(®) Two to three years

(D) Two weeks to one year

(6)
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Main forms of development process are :

Change in size and proportion
Changes in the old framework
Attainment of new qualities

All of the above

Changes in development occur :

Creative and destructive
Creative
Destructive

Physical

Blood pressure occurs in infancy :

Less
More

Very few
Very much

Adolescence is a state that is almost :

(A)

(B)

©)

12 to 20 years
13 to 21 years
16 to 18 years

12 to 18 years

has an impact on increase in height.

Pituitary gland
Thyroid gland
Adrenal gland

None of the above

(7)
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Writing skills develop in children in :
(A) One to two years

(B) To to three years

(®) Three to four years

(D) Four to five years

At what age does jealousy originate in
children?

(A) 110 4 years
(B) 110 2 years
(®) 2 to 3 years
D) 3 to 4 years

Which of the following is more feared in
adolescence?

(A) Imaginary possibilities
(B) Animals

(9] School

(D) None of the above

Child has an important role of what in social
development?

(A) School
(B) Family
(®) Society

(D) All of the above

Children of 6 to 7 years are more interested
in which sports?

(A) Alone

(B) Collective

(®) Both (A) and (B)
D) None of the above

(8)

26.

27.

28.

29.

30.

qraeh | fores & Bha @ o g
¥

A) Th YA Iy H o d
B) QAT Iy H
C TV IRTH

O) =R 9 U= ay &

gt ¥ 39l # Sar e ad @
ST ¥ B 77

A) Uh IR

B THAIA

C YA a

O) d9 & X ay

fpeNraee | 39 9 fede W e
T &7

A)  FRES TEEES

B)  SHa’i

C) o™

D) ST ¥ q B T

STl % T foehre 7 fheehl Hewaqel
i et 87

A e

B) URAR

C  |He

D) S |4

6977 I B I HH-9 Gl ¥ 31w
oy A &7

A TEHE

|) @ERH

© 3 (A) &R (B)

D) ST ¥ q B



31.

32.

33.

34.

35.

KNP/H.Sc.-0189-A/7865

Adolescents should be the subject of which study
due to complex condition of adolescents ?

(A) Mental

(B) Related to body and mind

©) Body

(D) None of the above

A major problem that occurs as a result of
developmental changes during adolescence is :

(A) Lack of motivation

(B) Lack of cooperation

(®) Lack of amenity

(D) Lack of adjustment

The field of child development is :

(A) Study of various stages of child
development

(B) Study of the effects of environment
(®) Study of individual difference

(D) All of the above

Physical development of an adolescent is
evaluated :

(A) By the height and weight of his
body

(B) By the length of his hands and feet
(®) By the physical work done by him

(D) By the width of his shoulder
Child development is the study of :
(A) Pregnancy to childhood

(B) Pregnancy to adolescence
(®) Pregnancy to life
D) None of the above

(9)
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Prechildhood is :
A 2 1o 5 years
B
C

D

(A)

(B) 2 to 6 years
(®) 3 to 5 years
D) 3 to 6 years

Micro functional skills fall under :

(A) Catch
(B) Writing
(®) Drawing
(

D) All of the above

Who gave the expression of free
expression, the method of control of
emotions?

(A) Rousseau

(B) Montessori

€ Both (A) and (B)

D) None of the above

The emotions of children are related to :
A Tangible goods
B
C

D

(A)

B) Intangible objects
(9] Both tangible and intangible
D) None of the above

Development of speaking ability in children
is possible only when :

A Larynx mature
B
C

D

(A)

(B) Inspired
(®) Get a chance to emulate
(D)

All of the above
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Imitation, affiliation and whose place is
important in the language development of
child?

A
B
C

D) None of the above

(A) Motivation
(B) Intensity

©) Purity

(

Who is author of the book on ‘Infant

Development™?
(A) Darwin

(B) Taine

C) Rousseau
(

D) None of these

Who has special importance in the social
development of children?

(A) Sports

(B) Children’s literature
©) Media

D) Routine

Which period of development is called
period of extreme pressure and tension?

(A)
(B) Childhood
C)
D) None of the above

Adolescence

Infancy

Development is a never ending process.
To which this idea is related?

A Principle of integration

O

Theory of interrelationship

_—~ o~ o~

)
) Theory of end verb
)
)

D Theory of continuity
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Mental development is not related to :
(A) Weight and height of teaching
(B) Development of memory

(®) Reason and decision

(D) None of the above

Cognitive development means :

(A) Development of prosecution
(B) Child development

(®) Development of physical skills

D) Personal development

Language is not a theory of development :

(A) Theory of contract

(B) Principle of simulation
(®) Principle of additional power
D) Principle of maturity
The period of infancy is :

(A) By birth to one year
(B) From birth to 2 years
(®) Three years from birth
D) Two to three years
Factors affecting growth are :
(A) Environment

(B) Health

(€ Diet

(D) All of the above
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The concept of 1Q is given by :

(A) Galton
(B) Binet
C) Stern
D) Terman

Who said “Play is a kind of amusement™?
(A) Hurlock

(B) Valentine

C) Russell

D) None of the above

The number of chromosomes are :

(A) 22 pair
(B) 43 pair
C) 23 pair
D) 53 pair

Who said “Adolescence is a period of Storm
and Stress™?

(A) Ross

(B) Stanley Hall
€ Kolesnic
D) Hurlock

Four distinct states of children’s intellectual
development are identified by :

(A) Erikson
(B) Skinner
C) Piaget

D) Kohlberg
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According to Piaget's theory, children learn

by :

(A) Memorizing information by paying
due attention

(B) Platform provided by more able
members of the society

C) Processes of adaptation

D) Changing their behavior when
offered appropriate rewards

The cognitive ablity that comes in pre-

operational period is :

(A) Hypothetical deductive thinking
(B) Ability for abstract thinking
C) Ability of goal directed behavior

D) Ability to take other's opinion
According to Piaget theory, which one out
of the following will not influence one’s
cognitive development?

(A) Language

(B) Social experiences

) Maturation

D) Activity

What is not a symptom of preeclampsia ?
(A) High blood pressure

(B) Excess weight gain

) Low blood pressure

D) Frequent vomiting

When was Polio Vaccine invented?

(&) 1963
(B) 1960
€ 1957
D) 1958
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Which of the following principle of
development is wrong?

(A) There are individual differences in
development

(B) Development is the result of
coincidence

(®) It is continuous process

D) None of the above

A student’s development depends on :
A
B
C

(A) Heredity

(B)  Environment

(®) Heredity and environment
D) None of the above

Which of the following period is very
important and emotional period?

(A)  Childhood

(B) Adolescence

(®) Infancy

D) None of the above
Adolescent age is :

A
B
C

D) 14-18 years

(A) 11-18 years

(B) 12-19 years

(C)  10-19 years

(

What does Growth means?
(A)  Behavior changes
(B) Physical changes
© Social changes
(D)

None of the above
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The overall changes that comes about in a
child are called :

A
B
C

D) None of the above

(A) Development
(B) Maturation
© Personality

(

Who was Kohlberg?
A
B
C

D) None of the above

(A) An American Psychologist

(B) A Swiss Psychologist

(9] A Latin Psychologist

(

Which of the following is not the characteristic
of extrovert personality?

(A) Leadership power
(B) Aggressive temper
(®) Gregarious

(D) Day dreamer

According to Piaget, during the first stage
of development (from birth to 2 years of age)
a child learns best :

(A)

(B) By thinking in an abstract way
©)

D) By concrete thinking

By using senses

By comprehending new words

Gagne in his book “The Conditions of
Learning” has described how many types
of learning?

(A) Five types
(B) Eight types
(®) Six types
D) Seven types
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The first stage of development of Gender
constancy is :

(A) Gender stability

(B) Gender labeling

€ Gender consistency
D) None of the above

Human development is based on certain
principles, which of the following is not a
principle of human development?

(A) Continuity
(B)

C) General to specific
D) Reversible

The concept of development task was first
used by :

Sequentiality

(A) Herbart
(B) Bruner

(@) Hull

D) Havighurst

Development of concepts is primarily a part
of :

A
B
C

D) Social development

) Emotional development
) Intellectual development
) Physical development

(
(
(
(

The term Nurture refers to the effect of one
of the following on human development:

A Heredity

(A)

(B) Environment
) Punishment
D) Reward
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76. When did child development start in India?  76.

WA § a1 a6 & oot & g7

(A) 1915 (A) 1915
(B) 1920 (B) 1920
(C) 1930 (C) 1930
O 1925 D) 1925
7. Learning is a complex : 7. e U Sffed ¢
(A)  Social Process (A) ISR ST ®
(B)  Mental Process (B)  AMEp UBRAT ®
€ Physical Process ©) IR Sk B
D) None of the above D) SR § | aﬁé Tet
78.  The weight of the baby's brain atthe time of ~ 78. &9 & =Y RIg] & ARASH & AR Bl
birth s : g
(A) 300 gram (A) 300 IH
(B) 400 gram (B) 400 IH
C) 350 gram € 350 I
D) 450 gram D) 450 IH
79. The child begins to recognize his mother  79. S ST HT P TN M Y
in: MR
(A) 3 months A  3HEN H
B) 9 months B) 9 WEm #
(C) 7 months © 7 wem H
D) 6 months D) 6 7em #
80. Number of bones of a new born child is : 80.  HdsIId f?ITEg %l '&'E?:'@T P HEA T
(A) 200 (A) 200
(B) 206 (B) 206
© 270 € 270
(D) 300 (D) 300
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Mother’s first Milk is called :
(A)  Yellow milk

(B) Colostrum

(C)  White Milk

D) None of the above

The number of bones in adolescence are :

(A) 306
B) 270
€ 206
(D) 406

XX chromosomes are found in :
(A) Mother

(B) Father

(C)  Both (A) and (B)

D) None of the above

From which age child becomes able to hold
small object between index finger and
thumb ?

(A) 5 months

(B) 6 months

€ 8 months

D) 9 months

Average weight of the child at the time of
birth is :

(A) 6 Pound

(B) 7 Pound

C) 10 Pound

(D) 12 Pound

81.

82.

83.

84.

85.

(19)

(A) g gy

(B) i

(C) H%e gy

D) I F & &5
e & sfgsdt &l e Bl B
(A) 306

B) 270

C) 206

(D) 406

XX HHAEH T S 2

A) @

|) T

€ 2t (A) IR (B)
D) SR ¥ | Fig ol

-l IF § e Rl BIe a%] B
T SR SIR O[S & o9 e |
e & S 87

A) 57E

B) 67®

C 87®

D) 97®
?%WWW%W@W
A) 6 ISS

B) 7 USS

€ 10 UsSE

D) 12 USE

[P.T.0.]



86.

87.

88.

89.

90.

KNP/H.Sc.-0189-A/7865

Development begins from :
(A) Adolescence

(B)  Childhood

(®) Pregnancy

(D) Infancy

Approximately, how many days is the
gestation period?

(A) 300 days

(B) 310 days

(C) 280 days

(D) 260 days

Which is not a speech defect in child?
(A) Stuttering

B) Speaking slowly

C) Lisping

D) None of the above

Who said “Intelligence is ability to think
abstractly”?

(A) Stern
(B) Freud
(®) Terman

(D) None of the above

In which age most of the child learn to
speak?

(A) 11 months
B) 20 months
C) 16 months
D) 24 months
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Which of the following is not an example of
the motor skill?

(A) Running
(B) Walking
€ Writing

D) None of the above

Average height of a new born baby is :

(A)  40-45cm.
(B) 45-50 cm.
(C)  30-40 cm.
D) 55-60 cm.

Genetic molecule is :

(A) RNA

(B) Chromosomes

(C)  DNA

D) None of the above

Which type of bone a new born baby
have ?

(A)  Soft

(B) Soft and Flexible
C) Flexible

(D) Hard

Which is universal donor blood group?

A)  AB
B A
G B
G ©
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Which is not an emotion? 96.
(A) Fear
(B)  Angry

(®) Oneness

D) Worry

Factor influencing Motor Developmentis :  97.
(A) Inspiration

(B) lliness

(®) Food

(D) All of the above

First important task after child birth is : 98.
(A) Feeding milk

(B) Bathing the child

(®) Clamping the cord

D) None of the above

Correct sequence of child developmentis:  99.
(A) Adulthood-Adolescence-Infancy

(B) Childhood-Infancy-Adolescence

(®) Infancy-Childhood-Adolescence

D) Infancy-Adolescence-Childhood

Laws of heredity have been given by : 100.
(A) Freud

(B) Mendel

(®) Hurlock

D) Darwin
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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